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The inverse by partition method: & jail) 44 s 4 gSaall
Let A is square matrix for size (n) and|A| =0, and let A is partined by four
partitions, then:
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And let B be inverse of matrix A and let B is partined by four partitions, then:
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Ex: Find the inverse of matrix A by using the partitioning way?
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Ex: Find the inverse of matrix C by using the partitioning way?
(3 1 2 1]
-1 0 -2 3

C =
-2 1 1 -1
2 -2 0 -3
Solution: ) )
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IC|=—1a,, +0c,, —2a,; +3,,
1 2 -1 : 1 2
a,,=(-D*1 1 -1 : 1 1=—[-3+4+0—(-6+0+2)]=-5
-2 0 -3 : -2 0
3 1 -1 : 3 1
ay=(-1)°-2 1 -1 : -2 1|=—[-9-2-4—-(6+6-2)]=25
2 -2 -3 : 2 =2
3 1 2 : 3 1
ay=(-D*-2 1 1 : -2 1|=0+2+8-(0-6+4)]=12
2 -2 0 : 2 =2

~|C|==(=5) —2(25)+3(12)=—9+0
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